# Attachment C





www.cypresscoastfence.com

# **Estimate**

Date	Estimate #
1/6/2021	20-20-070

Name / Address	
Michael Smith	
831-917-2302	
hog50cal@yahoo.com	
99 Second St.	
Spreckles, CA	

Labor Warranty	Material Warranty	Rep	
5 Years	5 Years	KT	

AREA A INSTALL 15 LF OF 5' 11' TALL STANDARD REDWOOD FENCE. SPECIFICATIONS - LINE POST, 4X4 CON-HEART ROUGH ON 8' MAX CENTERS SET IN 2 1/2' CONCRETE FOOTING RAILS, 2X4 CON-HEART ROUGH, 3 PER SECTION. 6" SPACE BETWEEN TOP RAILS BOARDS, 1X6 CON-HEART ROUGH WITH 1/2" VOID. DAYLIGHT OKAY BETWEEN BOARDS FRAME FASTENERS, SCREWS BOARDS AND TRIM FASTENERS, NAILS.  REMOVAL OF EXISTING FENCE. DOES NOT INCLUDE CONCRETE REMOVAL. POSTS CUT BELOW GRADE.  AREA B INSTALL 170 LF OF 4' TALL STANDARD REDWOOD FENCE. SPECIFICATIONS - SAME AS AREA A.  TAR BOTTOMS OF 25 POSTS.  INSTALL FOUR 3' WALK GATES TO MATCH FENCE. HARDWARE: GRAVITY LATCH WITH STRING.	Description	Qty	Rate	Total
INSTALL 15 LF OF 5' 11' TALL STANDARD REDWOOD FENCE. SPECIFICATIONS - LINE POST, 4X4 CON-HEART ROUGH ON 8' MAX CENTERS SET IN 2 1/2' CONCRETE FOOTING RAILS, 2X4 CON-HEART ROUGH, 3 PER SECTION. 6" SPACE BETWEEN TOP RAILS BOARDS, 1X6 CON-HEART ROUGH WITH 1/2" VOID. DAYLIGHT OKAY BETWEEN BOARDS FRAME FASTENERS, SCREWS BOARDS AND TRIM FASTENERS, NAILS.  REMOVAL OF EXISTING FENCE. DOES NOT INCLUDE CONCRETE REMOVAL. POSTS CUT BELOW GRADE.  AREA B INSTALL 170 LF OF 4" TALL STANDARD REDWOOD FENCE. SPECIFICATIONS - SAME AS AREA A.  TAR BOTTOMS OF 25 POSTS.  INSTALL FOUR 3" WALK GATES TO MATCH FENCE. HARDWARE: GRAVITY LATCH WITH STRING.	OPTION 1	15	78.00	1,170.00
CONCRETE REMOVAL. POSTS CUT BELOW GRADE.  AREA B INSTALL 170 LF OF 4' TALL STANDARD REDWOOD FENCE. SPECIFICATIONS - SAME AS AREA A.  TAR BOTTOMS OF 25 POSTS.  INSTALL FOUR 3' WALK GATES TO MATCH FENCE. HARDWARE: GRAVITY LATCH WITH STRING.  170 69.00 11,730.00 25 35.00 27,200.00	INSTALL 15 LF OF 5' 11' TALL STANDARD REDWOOD FENCE. SPECIFICATIONS - LINE POST, 4X4 CON-HEART ROUGH ON 8' MAX CENTERS SET IN 2 1/2' CONCRETE FOOTING RAILS, 2X4 CON-HEART ROUGH, 3 PER SECTION. 6" SPACE BETWEEN TOP RAILS BOARDS, 1X6 CON-HEART ROUGH WITH 1/2" VOID. DAYLIGHT OKAY BETWEEN BOARDS FRAME FASTENERS, SCREWS.			
INSTALL 170 LF OF 4' TALL STANDARD REDWOOD FENCE. SPECIFICATIONS - SAME AS AREA A.  TAR BOTTOMS OF 25 POSTS.  INSTALL FOUR 3' WALK GATES TO MATCH FENCE. HARDWARE: GRAVITY LATCH WITH STRING.  1, 10 10 11 11 11 11 11 11 11 11 11 11 11		1	45.00	45.00
INSTALL FOUR 3' WALK GATES TO MATCH FENCE.  HARDWARE: GRAVITY LATCH WITH STRING.  4 550.00 2,200.00	INSTALL 170 LF OF 4' TALL STANDARD REDWOOD FENCE. SPECIFICATIONS	170	69.00	11,730.00
HARDWARE: GRAVITY LATCH WITH STRING.	TAR BOTTOMS OF 25 POSTS.	25	35.00	875.00
INSTALL SIX 4X6 GATE POSTS. 65.00 390.00		4	550.00	2,200.00
	NSTALL SIX 4X6 GATE POSTS.	6	65.00	390.00

Total



Cypress Coast Fence 836 Walker Street Watsonville, CA 95076 831-783-1500 www.cypresscoastfence.com

## **Estimate**

Date	Estimate #
1/6/2021	20-20-070

Michael Smith 831-917-2302 hog50cal@yahoo.com 99 Second St. Spreckles, CA	Name / Address	
hog50cal@yahoo.com 99 Second St.	Michael Smith	
99 Second St.	831-917-2302	
	hog50cal@yahoo.com	
Spreckles, CA		
	Spreckles, CA	

	Labor War	ranty Material Wa	rranty Rep
	5 Year	s 5 Years	s KT
Description	Qty	Rate	Total
REMOVAL OF EXISTING FENCE. DOES NOT INCLUDE CONCRETE REMOVAL. POSTS CUT BELOW GRADE.	1	510.00	510.00
HAUL AWAY OF OLD FENCE. NO PRESSURE TREATED MATERIAL.	1	250.00	250.00
REMOVE 6 EXISTING GATE CONCRETE FOOTINGS FOR CCF GATE FOOTINGS.	6	85.00	510.00
*CCF TO MATCH EXISTING FENCE.*		0.00	0.00
*OPTION, 11' WIDE 6' TALL STEEL FRAME GATE WITH 6X6 STEEL POST AND 3' CONCRETE FOOTINGS. @ \$2,000 EACH.* - 1 STEEL GATE POST NEEDED \$385.		0.00	0.00
			*1
Estimate valid for 30 days		Total	
		iotai	\$17,680.00

 From:
 roserader2177

 To:
 Gonzales, Liz x5102

**Subject:** Fw: Greener Bay Landscaping Inc fence estimate

**Date:** Friday, January 8, 2021 1:57:15 PM

[CAUTION: This email originated from outside of the County. Do not click links or open attachments unless you recognize the sender and know the content is safe.]

#### 2nd bid

Sent via the Samsung Galaxy Note20 Ultra 5G, an AT&T 5G smartphone

----- Original message -----

From: michael smith < hog50cal@yahoo.com>

Date: 1/8/21 1:53 PM (GMT-08:00)

To: Roserader2177 < roserader2177@yahoo.com>

Subject: Fw: Greener Bay Landscaping Inc fence estimate

#### Sent from Yahoo Mail on Android

### ---- Forwarded Message -----

From: "greenerbay landscaping" < greenerbaylandscaping@gmail.com>

To: "hog50cal@yahoo.com" <hog50cal@yahoo.com>

Sent: Tue, Dec 15, 2020 at 8:23 PM Subject: Greener Bay Landscaping Inc

Landscaping Contract
Greener Bay Landscaping Inc.
www.greenerbaylandscaping.com
Father and Sons
greenerbaylandscaping@gmail.com
Licensed| Insured| Bonded
CSLB: #1061141

Geovanni Oseguera 831-601-8477

Javier Oseguera 831-383-8926

480 Potrero ave #607 San Francisco CA

1200 Hamilton Ave Seaside CA

Mike smith 831-917-2302

### hog50cal@yahoo.com

Project: 99 Second st Spreckles Ca

Installation of new fence Installation of gates New wood and new posts Labor and Materials

\$16,500

Leave posts Re do the fence

\$12,000